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Q1. (a) The following table gives the height of trees in a garden.

Height(Feet) | Number of trees
Below 7 26
Below 14 57
Below 21 92
Below 28 134
Below 35 216
Below 42 287
Below 49 341
Below 56 360

(i) Draw a histogram and cumulative frequency curve. Use your diagrams to
estimate the mode, median and quartiles.

(ii) Find the mean height of trees. .

(iif) Calculate the mode, median and quartiles using formulae. Check the an-
swers with part(i).

(iv) Compute the standard deviation of the height of trees. (60 marks]



(b) In two factories A and B engaged in the same industry in an area, the averay

weekly wages (in Rupees) and the standard deviations are as follows:

Factory | Average | Standard Deviation Numbgr of Employees i
A 34.5 5 476
B 28.5 4.5 524

(i) Which factory A or B pays out a lager amount as weekly wages?

(ii) Which factory A or B has greater variability in industrial wages?

: [40 mark

Q2. (a) (i) Explain with formula, the construction of the following Index Numbers|
Price:
e Laspeyre's Index;
e Paache's Index;
e I'isher's I1deal Index. [30 mark
(ii) Using the data given below calculate price index number for the year 2|
by
e Laspeyre's formula,
e Paache's formula,

e Fisher's formula with year 1995 as base.

Item | A|B|C|D|E

Price 1995 | 8 2
2003 20| 6 | 2

Quantity 1995 | 50 | 15 | 20 | 10 | 40
2003 |60 |10 25| 8 | 30

ot
o

Show that Fisher’s Ideal Index satisfies Time Reversal and Factor I
versal Tests.

50 mat



ulate the Spearman's Rank Correlation and comment on the significance
[20 marks]



